

#### Pay Estimate Created Date: September 15, 2022

Progress Estimate 3	Number	Contract ID Prime Contracto	220121-F07 r Louis-Company, I		/ Period Start / Period End	Septembe Septembe		Original Contract Amount Net Change Order Amount Current Contract Amount	\$478,115.00 \$0.00 \$478,115.00			
Approval Date									By User			
September 19, 2022			Generated and A	pproved	(and should be	e considered	d Draft) at t	he Project Office Level by	janssm			
September 19, 2022		Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by janssm										
September 19, 2022	Reviewed and Approved at the Central Office Controllers Office Level by ramses1											
Original Completion	n Date	Current Cor	npletion Date	al Completion	n Date	% (	of Current Contract Amount	Complete				
September 1, 20	)22	Septemb	er 1, 2022	S	September 1, 2022 96.17%							
	Contract	Informational Dat	es		М	ilestones						
Date Description	Original	Completion Date	Current Completi	on Date	No Milestone	es Exist for	Contract					
Acceptance Date												
Awarded Date	February	2, 2022	February 2, 2022									
Letting Date January 21, 2022 January 21, 2022												
Notice to Proceed Date	Notice to Proceed Date February 7, 2022 February 7, 2022											
Open to Traffic Date												
Work Began Date												

Contract Total P	ay For Estimate No. 3				
		This Estimate	Previous	To Date	
220121-F07					
	Total Posted Items Pay	\$1,650.00	\$458,144.00	\$459,794.00	
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
	-		\$458,144.00	\$459,794.00	
Contract Total Pa	avable This Estimate:	\$1.650.00			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount		
J6P3646	0090	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$5.000	330	\$1,650.00		
Project J6P	3646 - Tota	I					\$1,650.00		
Overall - Total									

Contract Adjustments This Estimate

```
No Contract Adjustments Exist on Contract
Line Item Adjustments This Estimate
```

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6P3646	0040	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Material			-10	\$100.00	(\$1,000.00
	0040	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user erdmaa2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	10	\$100.00	\$1,000.00
	0050	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material			-2	\$350.00	(\$700.00)



### Pay Estimate Created Date: September 15, 2022

Progr		imate Number 3	Contract ID Prime Cont		21-F07 -Company, Ll	LC Pay Period End September 15, 2022 Ne	iginal Contra t Change Ore rrent Contra	der Amount	\$478,115.00 \$0.00 \$478,115.00
Project Number	Line No.	Item Description     Adjustment Type     Other Item Adjustment Type     Comments       PREFORMED     Material     This adjustment offsets the original system		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount			
J6P3646	0050	THERM PAVEMENT	/IOPLASTIC	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user erdmaa2 overridding Payment Estimate Exception 2 on the current Payment Estimate.	2	\$350.00	\$700.00
	0060 6 IN. WHITE HIGH E WATERBORNE PAVE MARKING PAINT, T		PAVEMENT	Material			-5,225	\$1.00	(\$5,225.00
	0060	6 IN. WHITE H WATERBORNE MARKING PAI	PAVEMENT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user erdmaa2 overridding Payment Estimate Exception 3 on the current Payment Estimate.	5,225	\$1.00	\$5,225.00
	0070	6 IN. YELLOW F WATERBORNE MARKING PAI	PAVEMENT	Material			-2,110	\$1.00	(\$2,110.00
	0070	6 IN. YELLOW F WATERBORNE MARKING PAI	PAVEMENT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user erdmaa2 overridding Payment Estimate Exception 5 on the current Payment Estimate.	2,110	\$1.00	\$2,110.00
	0080	12 IN. WHITE F WATERBORNE MARKING PAI	PAVEMENT	Material			-260	\$5.00	(\$1,300.00
	0080	12 IN. WHITE F WATERBORNE MARKING PAI	PAVEMENT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user erdmaa2 overridding Payment Estimate Exception 7 on the current Payment Estimate.	260	\$5.00	\$1,300.00
	0090	24 IN. YELLOW WATERBORNE MARKING PAI	PAVEMENT	Material			-330	\$5.00	(\$1,650.00
	0090	24 IN. YELLOW WATERBORNE MARKING PAI	PAVEMENT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user erdmaa2 overridding Payment Estimate Exception 11 on the current Payment Estimate.	330	\$5.00	\$1,650.00
	0110	CONCRETE CRA	ACK FILLER	Material			-20,914	\$18.50	(\$386,909.00
	0110	CONCRETE CRA	ACK FILLER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user erdmaa2 overridding Payment Estimate Exception 12 on the current Payment Estimate.	20,914	\$18.50	\$386,909.00
Total									\$0.00



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information											
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
J6P3646	l 270-5(369)	Fixed Price Variable Scope Bridge Crack Fill	Various	ST LOUIS	crack fill at various bridges							

## Totals by Job Numbers

1000010				
J6P3646		This Estimate	Previous	To Date
Posted Item Pay		\$1,650.00	\$458,144.00	\$459,794.00
Gross Item Adjustme	nts	\$0.00	\$0.00	\$0.00
	Gross Item Pay	\$1,650.00	\$458,144.00	\$459,794.00
Incentive		\$0.00	\$0.00	\$0.00
Disincentive		\$0.00	\$0.00	\$0.00
Liquidated Damages		\$0.00	\$0.00	\$0.00
Other Contract Adjust	tments	\$0.00	\$0.00	\$0.00



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

## Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J6P3646, Item 6200015, Project Item Line Number 0040, Material Set 620001596, Material 1048PMPFWH - Performed Thermoplastic Marking Tape Wh, Acceptance Action Generic 1048PMPFWH is insufficient.	No reflectivity was performed due to small Quantity per MoDOT Inspector	erdmaa2	Overridden
Estimate Exception Type: Insufficient Materials: Project J6P3646, Item 6200021, Project Item Line Number 0050, Material Set 620002196, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient.	No reflectivity was performed due to small quantity per moDOT Inspector	erdmaa2	Overridden
Estimate Exception Type: Insufficient Materials: Project J6P3646, Item 6205902A, Project Item Line Number 0060, Material Set 6205902A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	No reflectivity was performed due small quantities at several locations per MoDOT Inspector	erdmaa2	Overridden
Estimate Exception Type: Insufficient Materials: Project J6P3646, Item 6205902A, Project Item Line Number 0060, Material Set 6205902A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	No reflectivity was performed due to small quantities at several locations per MoDOT Inspector	erdmaa2	Overridden
Estimate Exception Type: Insufficient Materials: Project J6P3646, Item 6205903A, Project Item Line Number 0070, Material Set 6205903A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	No reflectivity was performed due to small quantities at several locations per MoDOT Inspector	erdmaa2	Overridden
Estimate Exception Type: Insufficient Materials: Project J6P3646, Item 6205903A, Project Item Line Number 0070, Material Set 6205903A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	No reflectivity was performed due to small quantities at several locations per MoDOT Inspectpor	erdmaa2	Overridden
Estimate Exception Type: Insufficient Materials: Project J6P3646, Item 6205906A, Project Item Line Number 0080, Material Set 6205906A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	no reflectivity performed due to small quantity per MoDOT Inspector	erdmaa2	Overridden
Estimate Exception Type: Insufficient Materials: Project J6P3646, Item 6205906A, Project Item Line Number 0080, Material Set 6205906A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	No reflectivity performed due to small quantity at isolated per MoDOT Inspector	erdmaa2	Overridden
Estimate Exception Type: Insufficient Materials: Project J6P3646, Item 6206125A, Project Item Line Number 0090, Material Set 6206125A96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	due to small quantity no reflectivity performed per MoDOT Inspector	erdmaa2	Overridden
Estimate Exception Type: Insufficient Materials: Project J6P3646, Item 6206125A, Project Item Line Number 0090, Material Set 6206125A96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	no reflectivity performed due to small quantity per MoDOT Inspector	erdmaa2	Overridden
Estimate Exception Type: Insufficient Materials: Project J6P3646, Item 6206125A, Project Item Line Number 0090, Material Set 6206125A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	no reflectivity performed due to small Quantity per MoDOT Inspector	erdmaa2	Overridden
Estimate Exception Type: Insufficient Materials: Project J6P3646, Item 7040163, Project Item Line Number 0110, Material Set 7040163, Material 1053CFMMA - Concrete Crack Filler (CF) - MMA @, Acceptance Action Generic 1053CFMMA is insufficient.	Material PAL Reports have not been entered into the system. The correct material was used.	erdmaa2	Overridden

## Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

## Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
220121-F07	J6P3646	0001	0010	6169901	MISC.Lump Sum Temporary Traffic Control	1.00	0.00	1.00	LS	0.95	\$45,000.00	\$42,750.00
		0001	0020	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSASGE SIGN WITH COMM INTERFACE (CONTRACTOR FURNISHED AND RETAINED)	8.00	0.00	8.00	EA	3.00	\$2,800.00	\$8,400.00
		0001	0030	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$9,000.00	\$9,000.00
		0001	0040	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	10.00	0.00	10.00	LF	10.00	\$100.00	\$1,000.00
		0001	0050	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	2.00	0.00	2.00	EA	2.00	\$350.00	\$700.00
		0001	0060	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	5,225.00	0.00	5,225.00	LF	5,225.00	\$1.00	\$5,225.00
		0001	0070	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	4,181.00	0.00	4,181.00	LF	2,110.00	\$1.00	\$2,110.00
		0001	0080	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	260.00	0.00	260.00	LF	260.00	\$5.00	\$1,300.00
		0001	0090	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	330.00	0.00	330.00	LF	330.00	\$5.00	\$1,650.00
		0001	0100	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	3.00	0.00	3.00	EA	3.00	\$250.00	\$750.00
		0070	0110	7040163	CONCRETE CRACK FILLER	20,914.00	0.00	20,914.00	SQYD	20,914.00	\$18.50	\$386,909.00
	Project J	6P3646 - To	otal Value	Posted to D	ate as of Report Generated Date							\$459,794.00
20121-F07 Ove	rall - Total	Value Post	ed to Dat	te as of Repo	ort Generated Date							\$459,794.00



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

## The information below this line is supplemental to the Estimate and is provided for confirmation of detail. location and quantity of work.

Project:	: J6P3646										
Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0090	6206125A	24 IN. YELLOW WATERBORNE PAVEMENT MARKIN	9/13/22	9/15/22	330.00	LF	Bridge No A7422 MO-115 (Natural Bridge) over US-67				drove through project site and verified that Tramar has performed this work since Aug 31, 2022

The information below this line are details for Construction Signs (if applicable), No Data Available



# Line Item Adjustments by Estimate

Contract ID:190215-D05

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6P3646	0040	PREF THERMO PVMT MARK,	Material		2	Sep 1, 2022	SYSTEM	\$1,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user erdmaa2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		24 IN WHIT			2	Sep 1, 2022	SYSTEM	(\$1,000.00)	
					3	Sep 15, 2022	SYSTEM	\$1,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user erdmaa2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Sep 15, 2022	SYSTEM	(\$1,000.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0040 -	Total						\$0.00	
	0050	PREF	Material		2	Can 1	SYSTEM	\$700.00	This adjustment effects the avising system senerated Material Desment
	0050	THERMO PVMT MARK, LT/RT ARROW	Material			Sep 1, 2022			This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user erdmaa2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					2	Sep 1, 2022	SYSTEM	(\$700.00)	
					3	Sep 16, 2022	SYSTEM	\$700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user erdmaa2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					3	Sep 15, 2022	SYSTEM	(\$700.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0050 -	Total						\$0.00	
	0060	6 IN. WHITE HIGH BUILD WATERBORNE	Material		2	Sep 1, 2022	SYSTEM	\$5,225.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user erdmaa2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
		PAINT			2	Sep 1, 2022	SYSTEM	(\$5,225.00)	
					3	Sep 16, 2022	SYSTEM	\$5,225.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user erdmaa2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	Sep 15, 2022	SYSTEM	(\$5,225.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0060 -	Total						\$0.00	
	0070	6 IN. YELLOW HIGH BUILD WATERBORNE	Material		2	Sep 1, 2022	SYSTEM	\$2,110.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user erdmaa2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
		PAINT			2	Sep 1, 2022	SYSTEM	(\$2,110.00)	
					3	Sep 16, 2022	SYSTEM	\$2,110.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user erdmaa2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					3	Sep 15, 2022	SYSTEM	(\$2,110.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0070 -	Total						\$0.00	
	0080	12 IN. WHITE HIGH BUILD WATERBORNE	H BUILD		2	Sep 1, 2022	SYSTEM	\$1,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user erdmaa2 overridding Payment Estimate Exception 7 on the current Payment Estimate.
		PAINT			2	Sep 1, 2022	SYSTEM	(\$1,300.00)	
					3	Sep 16, 2022	SYSTEM	\$1,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user erdmaa2 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					3	Sep 15, 2022	SYSTEM	(\$1,300.00)	



# Line Item Adjustments by Estimate

## Contract ID:190215-D05

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6P3646	0080	12 IN. WHITE HIGH BUILD	Material	- Total				\$0.00	
		WATERBORNE PAINT	Material - To	otal				\$0.00	
	0080 -	Total						\$0.00	
	0090	24 IN. YELLOW WATERBORNE PAVEMENT	Material		3	Sep 16, 2022	SYSTEM	\$1,650.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user erdmaa2 overridding Payment Estimate Exception 11 on the current Payment Estimate.
		MARKIN			3	Sep 15, 2022	SYSTEM	(\$1,650.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0090 -	Total			_			\$0.00	
	0110 CONCRETE CRACK FILLER	Material		1	Aug 17, 2022	SYSTEM	\$386,909.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user bauerd1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					1	Aug 17, 2022	SYSTEM	(\$386,909.00)	
					2	Sep 1, 2022	SYSTEM	\$386,909.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user erdmaa2 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					2	Sep 1, 2022	SYSTEM	(\$386,909.00)	
					3	Sep 16, 2022	SYSTEM	\$386,909.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user erdmaa2 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					3	Sep 15, 2022	SYSTEM	(\$386,909.00)	
			- Total				\$0.00		
			Material - To	otal				\$0.00	
	0110 -	Total						\$0.00	
J6P3646 ·	- Total							\$0.00	
Overall -	erall - Total								